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Run 5030 triggerwise, sums: All

Endriea: 42

Mzan: 25364762 4 1825548

Sid D 11558293 4= 1288210
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6000 000

sum

Run 5030 triggerwise, sums: Beam ON, Laser ON

0.8

0.6

0.4

0.2

Run 5030 triggerwise, sums: Beam OFF

Enilrie=: 1

Mear: 970.0000 +/- 0.0000

Sid Dev: 00000 - 0.0000

Run 5030 triggerwise, sums: Beam ON, Laser OFF

—— Helicity==0 — Helicity==0
— Helicity==1 — Helicity==1
Endrias: 24 Enitries: O
Maan: 24335817 + 1B 1T Mean: 00000 «- 0.0000

5id Derw: 9289490 +- 133,738

Enirias: 17

Mizan: ZTEE.BE2E 4 JET 2438

‘Bed D 14346081 +'- 2460533

Sbd Dherw: 0U0000 -~ 00000

Entries: 0

Mean: 000000 +/- Q.000

Sid Drev: L0000 +- 0.0000
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